
Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) Solve Total Three questions. Answer 1 question from Q1 and Q2, Q3 or Q4, and Q5
or Q6 each.

2) Assume suitable data if necessary.
3) Write down all the assumptions made.
4) Given Fabc = [P] Fdq0, where Park’s transformation.
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1) Solve Total Three questions. Answer 1 question from Q1 and Q2, Q3 or Q4, and Q51) Solve Total Three questions. Answer 1 question from Q1 and Q2, Q3 or Q4, and Q5

2) Assume suitable data if necessary.2) Assume suitable data if necessary.
3) Write down all the assumptions made.3) Write down all the assumptions made.
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